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A． 

１．多くの理論が生み出すのは一貫性のある単一の答えではなく、様々な考えが雑然と入

り混じったものである。 

 

２．(A) 

 

３．(エ) 

 

４．戦争は人間の遺伝子に組み込まれた本能的な行為ではなく、遺伝子を残して子孫を繁

栄させるためになされる行為であるということ。（60字） 

 

５．(a) 

 

６．戦争の無い世界が現在および未来の国際秩序から生まれようとしているという考えは、

根拠に乏しい。 

 

７．戦争は遺伝子の保存や安全性の確保、権力の追求、資源の逼迫、信仰や信条など様々

な動機が複雑に絡み合って引き起こされてきたが、これらの動機は時代を問わず人類に

普遍的なものであるため、戦争は今後も形を変えながら繰り返されるだろうと考えられ

るから。（120字） 

 

B． 

I think that the greatest threat to world peace is the changing power balance. The United 

States has long been the main single great power, both economically and militarily, but 

new powers such as China and India among others are rising to become great powers of 

their own and challenging the old ‘US as No 1’ status. This will bring us into a new ‘cold 

war’ that could easily become a ‘hot war’ if we are not careful. But with global warming 

causing environmental disruptions and giving rise to a wave of climate refugees and 

migrants, we will see more and more backlashes and extreme anti-immigrant parties 

gaining power around the world. Leaders with radical ideas will appear in many 

developed and developing countries and one of them could easily set off the next great 

war. (136 words) 


